/

=

I POM.gOSE.

L - e 2 H3 R % L ¢ t u 4 « 1 w I «
F | wykizdzina L2 I 5
2 b= = = = 2 o o =) o o o
o o o o o o = = = - o
o 1<) <) S <) S = 2 b= =
o o] o o] oK 2 S PR O] KL ®L o]
J1 imt I

- t
\wneka na

hydrant

222 [korytarz 7
106, 1tmfwyktadzina

2/221 | gabinet
26,97m] wyktadzina

.

06~
RN

21221 portiernia
1\ . 4 = 5,82m? | wyktadzina
I o\, 1
1

o 2/221 | holl
2/221 | centr.telef. 50.86n] WyKtadzing
1,96m?| wyktadzina s
27221 221 2/22 | gabinet 2/221 | gabinet 2/221 uic‘ . ropro.
E{M::l:n' 23, sSm{vyklad na F 2 Im,"ia > 25,1mq wyktadzina 18,47m] wyktadzina i malm%vr adzina
13,02m wyktadzina X

12,62m 4 wyktadzina

!
4

2/22V | Avizo
6.48n° uyktadzina+

£ B {jyl 1 = % ES H" 21 # 30 “l 518 1t
m ,-] __r I 5 I I I\ el B S vt i — =‘H " T L H I\
U L U o o o L Lf U L 1} 1t jll U _l[ \’ " \]
o o o o o o o o (= o o o o =] o = o o o o o o = o o o o o o o
o o o = o o o o o o (= o o o o o o o =3 =3 o o o = o o = = o
o S 1= S 1= S S S 1= S oS 1= 1= S S 1= 1= = 1= S =3 1= 1= S 1= S = 1=
S = o] o =R oK o 2 P 2] =<K ®Q ORK] ©OR[Y ©R[] ©R[] oK ®RK[ ®RQ 2] 2] o O[] POR[Y ©ORK[ [ ©oRK[] Q] R[] o
: R — : s . : et ——— f =2y R B — st e — —_— f ¢ - —

DUDYNEK A - WYSOK| PARIER.




